White Rgse

Missing number problems MATHS e Complete the part-whole models and number
sentences.

a) 10+8 =14+ 0
0 Work out the missing numbers.

a) 10+8 =13 + a ‘

&

eeeee [ceeee b) 20 +6 = 23+ 6
00000 90000
ooeee [eee a ‘
Q00O

b) 10 +4 =19 - e Kim is working out the missing number.
ooeee [eceeee 4345 =24
@ Q0 90000
QQQQ OOOOO 47 is 1 less than 43,

0000 so the missing number must
(OED) be 1 more than 5
c) Use ten frames and counters to work out the @ it

missing numbers. . . o
Use Kim’'s method to find the missing number.

12 + =10+5 17 — =10+ 2
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G Complete the part-whole models and number G @
sentences. ‘ 3 %
a) 34-7=30- ‘ 28p 43p 41p ?

The total cost of an apple and a pineapple is
the same as the total cost of an orange and
a banana.

How much does a banana cost?

b) 56 -9 =50 - 6

How did you work it out?

o Ron has £43

.
9 Work out the missing numbers. He buys some shoes that cost £26 *
Jo has £41

<

a) 28 -6 =27 - d) 28-6 =24 - She buys a coat.
She has the same amount of money left as Ron.
b) 28 - 6 = 26 — e) 28 — 6 = 23 — How much does the coat cost?
£
c) 28-6=25- f) 28 -6 =22 -

How did you work it out? @

What do you notice?
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